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@extension=" POCD MT000040
templateld 1..1 | SCRS#R g% S 01D, Hrf@ root="2. 16. 156.10011.2.1.1.7”
. T WIS, Hh@ root="2.16. 156. 10011. 1. 1. 1. 2” T E&MI4 S | DEOL. 00. 008. 00
id L1 BT id/@extension
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code 1..1 | @codeSystemName=" P4 {5 BILZ R ITE AL 1A R
", @code="HSDB02. 03"
title L1 | SCRYAREE, « PR TR
effectiveTime L1 | SRRSO AR [H] DE06. 00. 024. 00
confidentialityCode | 1..1 Zijgjgfifiiifgﬁ?é.gig%??i13883.5.25”
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@typeCode="RCT”, @contextControlCode="0P
|--patientRole 1..1 | B, Hohg{EeclassCode="PAT”
R RS, HrhotfEe
|--|--id 1..1 | root="2.16.156.10011.1.2", T E&KL%S & T DEO1. 00. 009. 00
id/@extension
Flpatient L SARFEARME R, e (E )
@classCode="PSN”, @determinerCode="INSTANCE”
|--]--|--name L.1 | %% DE02. 01. 039. 00
author L MROIEE, BEE: ?tYSeCodeZ”AUT”,
@contextControlCode="0P
|--time L.1 | AR&EEVH M DE06. 00. 024. 00
|--assignedAuthor 1.1 | feEfIfEE, #E{E: @classCode="ASSIGNED”
i Lo VEF MIME—FRRTF, e root="2.16. 156. 10011. 1. 77,
i EARHI%% 5 BT id/@extension
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|--|--|--name 0..1 | BEAMS DE02. 01. 039. 00
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id/@extension H
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|--|--|--addr LR HkiE
custodian L.1 | SOMEENIE R, HhEE HetypeCode="CST”
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ganization @classCode="0RG” , @determinerCode="TINSTANCE”
SO RE W BESTHU BRI, Horp
[--|-|--id 1..% | @root="2.16. 156. 10011. 1. 6", T EAKKI%mS BT
id/@extension H
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|--|--|--telecom 0..1 | BRENMEIE
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|--section
code T B ] ARG, HoHhe code="11450-4",
-f-code codeSystem e @displayNamej” PROBLEM LIST 7, )
displayName @codeSystem="2. 16. 840. 1. 113883.6. 1
codeSystemName @codeSystemName="LOINC”
|--|--text NS
|--|--entry L.1| R | R HELIAKHE
|--|--]--Observation classCode 1.1 HAr, @classCode="0BS”, @moodCode="EVN”
moodCode
code
epeedecode codeSystem e Hdr, @codeSystem="2. 16. 156. 10811. 2.2.17, DEOA. OL. 121. 00
codeSystemName @codeSystemName="FA4 (5 B & 6 H 3~
displayName
[--]--|--|--value 0..1 AR
|--|--entry L.1| R | OEARAELIRIER % H
|--|--]--Observation classCode 1.1 HAr, @classCode="0BS”, @moodCode="EVN”
moodCode
code
--code codeSystem e HHp, @codeSystem="2. 16. 156. 10811. 2.2.17 , DEOA. OL. 129. 00
codeSystemName @codeSystemName=" P42 B ¥t H %7
displayName
[--|--|--|--value 0..1 AR
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component fEﬁﬁﬁtﬁEﬁiﬁ?ﬂﬁfﬁig
|--section
code AR ARAE RS, HAF@code="8716-3",
codeSystem @codeSystem="2. 16. 840. 1. 113883.6.1” ,
|--]--code I.. R ” ”
displayName @displayName="VITAL SIGNS ,
codeSystemName @codeSystemName="LOINC”
|--|--text NS
|--|--entry 1.. R | MEHKH
|--|--|--organizer 1.
|--|--|--code 1.. HredisplayName="Ifl.JE”
|--|--|--|--statusCode
|--|--|--|--component 1. Wi
|--|--|--]--|--Observation L.
code
Hr,
codeSystem , .
|--|--|--|--|--|--code 1.. R | @codeSystem="2. 16. 156. 10011.2.2. 1" , DEO4. 10. 174. 00
codeSystemName , e g e — »
@codeSystemName=" D415 E & c H
displayName
xsi:type
|| |--[--|--value value 0.. B4 fH@xsi:type="PQ”, @unit=" mmHg”
unit
|--[--|--|-- component L.1 R | &F5KE
|--|--|--]--|--Observation I..
code
Hr,
codeSystem .
|-=|--|--|--]--|]--code 1.. R | @codeSystem="2.16. 156.10011.2.2.1” , DE04. 10. 176. 00
codeSystemName , e e e — »
@codeSystemName=""P 415 B4 0 H %
displayName
Xsi:type p
|-=|-=|~-|-~|--|--value 0.. A {Hexsi:type="PQ”, @unit=" mmHg”
value
|--|--entry 1.. R | #E%H
|--|--|--Observation L.
code
H,
codeSystem
|--|--|]--|]--code 1.. R | @codeSystem="2.16. 156.10011.2.2.17 , DE04. 10. 186. 00
codeSystemName ., e et — ”
@codeSystemName="_PA (5 S &5 70 H 3%
displayName
Xsi:type
|--|--|--|--value value 0.. A EHexsi: type="PQ”, @unit=""C”
unit
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[--section
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displayName @displayName="Breasts” ,
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|--|--text NS 7
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|--]--|--Observation c assoce Hdr, @classCode="0BS”, @moodCode="EVN”
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displayName
[--[--|--|--|--qualifier PR sE & 1
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displayName
[--|--|--|--|--qualifier PR sE & 1
|--|--|-~|--]--|--name Hrr, @displayName="47{l]"
codeSystem Horr,
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component étﬁﬁggiﬁﬁgﬁﬁjﬁgg
|--section
EAE S AT, Hp@code="11400-97,
ep-cod @codeSystem="2. 16. 840. 1. 113883.6. 17,
code @displayName=" GENITALIA”,
@codeSystemName="LOINC”
|--|--text NS
|--|--entry 1..1 R W% H
. HorAr, @classCode="0BS”,
|--|--|--Observation 1..1 amoodCode="EVN”
Ao ) DEOA. 10. 244
|--|--|]--|]--code 1..1 R codeSystem="2. 16. 156. 10011. 2. 2. 1
@codeSystenName=""T\: {2 K ¥4 75 H 3 00
|--|--|--|--value 1..1| R | HH@xsi:type="BL”
«|--|--|--entryRelati
||J|enwea1m TR
ship
: Hrh, @classCode="0BS”,
|--|--|-|--|---Observation 1..1 amoodCode="EVN”
Hee ) DEOA. 10. 025
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|--|--|--Observation 1..1
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displayName
|--|--|--|--]--|--value 0..1 SCARER
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|--|--|--Observation 1..1 @moodCode="EVN”
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@codeSystemName=""PA A5 S &G 6 HR” - 00
HH,
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[--section
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|--|--entry 1..1 R T T R
|--]--|--Observation 1..1 H.Ar@classCode="0BS”, @moodCode="EVN”
A, DEO5. 10. 125
|--|--|--|--code 1..1 R @codeSystem="2. 16. 156. 10011. 2. 2. 1”7, @codeS '00'
ystemName=" T 4E15 H&E o H &~ '
|--|--|--|-- value 1..1 R Hrp@xsi:type="BL”
|--|--|--|--entryRelationship 1.1 R ZR PP VT AL O 45 SR AR
|--|--|--|--|--Observation 1..1 Hrp@classCode="0BS”, @moodCode="EVN”
e, DEO5. 10. 126
|--]--|--|--]--|--code 1..1 R @codeSystem="2. 16. 156. 10011. 2. 2. 1”7, @codeS '00'
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component BERSETHRLR
|--section
code fa e 5 4705, FHrPecode=" 69730-07,
p-code codeSystem { R @codeSystem="2. 16. 840. 1. 113883.6. 17,
displayName o @displayName=" Instructions” ,
codeSystemName @codeSystemName="LOINC”
|--|--text N By
|--|--entry 0.. 0 | R T%E
>lassCod
|--|--|--Observation cassoce 1.. H.rh@classCode="0BS”, @moodCode="DEF”
moodCode
codeSystem e S B AR, Hd,
|-=|--|--|--code deSvstemN 1.. R | @codeSystem="2.16. 156.10011.2.2.1” , DE06. 00. 051. 00
codesystemame @codeSystemName="FA {5 S & 0 H 1~
R SR HUE, HAsaEe
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|--section
code oW ETRD, KA
codeSystem @code="18776-1",
|--]--code displayName 1..1 @codeSystem="2. 16. 840. 1. 113883. 6. 1”7
codeSystemNa , @displayName="referal”,
me @codeSystemName="LOINC”
|--|--text NS
|--|--entry 0..1 ¥i2%HE
. classCode HA@classCode="0BS”, @
|--]--|--Observation oodCodo 1..1 noodCode="FVN”
codeSystem HAZhn BT, Hrpe codeSystem DEO6. 00. 17
|--]--|--]--code codeSystemNa | 1..1 R | =72.16.156.10011.2.2. 17, @ 4' 00'
me codeSystemName=" 415 B &z c H R '
|--|--|--[--value iotrdiE, Hdpexsi:type="BL”
Hrh@ typeCode="CAUS”,
--|--|--|--entryRelati hi 1 ” »
[--l-I-—-entryRelationship 0 0 @negationlnd="false
>lassCod
e f-act Lm asdsc ?d ° H.A@classCode="INFRM”, @
¢ 00 - ode moodCode="APT” , @negationInd="false”
negationlnd
codeSystem A JR RS, Hodp DEOG. 00. 17
|--|-<--[--]--|--code codeSystemNa @codeSystem="2. 16. 156. 10011. 2. 2. 1" , 7 00'
me @codeSystemName=" 415 E&HEc H '
L text N
[--|--|--|--|--]--per former
[--|--|--|--|--]--]--assignedAutho
T
i
[--[--|--|--|--|--]--]--represented
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DE08. 10. 02
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|--section
code
codeSystem
|--|]--code . TR R AR
displayName
codeSystemName
|--|--text NS5y
|--|--entry L.1| R | FkMIZH%H
|--|--|--observation classCode I..1 HrA1@classCode="0BS” , @moodCode="DEF”
moodCode
codeSystem TRBET H R, HAe
|--|--|--|--code codeSystemName | 1..1 | R | codeSystem="2.16.156.10011.2.2.1", @ DE06. 00. 109. 00
codeSystemName=""T 415 B4 0 H 3~
|- |--|--]--value L..1| R | TEEVHBE
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<?xml version="1.0" encoding="UTF-8"2>
<ClinicalDocument xmlns="urn:hl7-org:v3” xmlns:mif="urn:hl7-org:v3/mif”
xmlns:xsi="http://www. w3. org/2001/XMLSchema—instance”

xsi:schemalocation="urn:hl17-org:v3 .. \sdschemas\CDA. xsd”>

{realmCode code="CN"/>

<{typeld root="2.16. 840. 1. 113883. 1. 3” extension="POCD_MT000040”/>

<{templateld root="2.16.156.10011.2.1.1.77/>

A—REGT —>

<id root="2.16.156.10011.1.1.1.2” extension="D2011000001"/>

A== —>

<{code code="HSDB02.03” codeSystem="2. 16. 156. 10011. 2. 4” codeSystemName=" T4 {5 B ILZ T4
IS IER" />

titledP= iR/ title>

=R AR ] (1. 1]

{effectiveTime value="20111029"/>

A3t BME [1.. 1] —>

<{confidentialityCode code="N" codeSystem="2.16.840.1. 113883. 5. 25"
codeSystemName="Confidentiality” displayName="IF ¥ 1Jj [a]{R 254k H” />

A-—3CEE [1.. 1] BRIME code="zh-CN” & : PCERFHmG—>

<languageCode code="zh-CN”/>

<setId/>

<{versionNumber/>

A==3eiidsEx g O [ —
{recordTarget contextControlCode="0P”>
<{patientRole>
A SRR 5>
<id root="2.16. 156. 10011. 1. 2” extension="HR201102113366666" />
<{patient>
A—BH BT —>
<id root="2.16.156.10011.1.3” extension="1D420106201101011919”/>
<name>¥E4</name>
{/patient>
{/patientRole>
{/recordTarget>
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A=—=3CMEIEE  [1.x] —>
<Cauthor typeCode="AUT” contextControlCode="0P”>
== AREEVTHH >
<{time xsi:type="TS” value="20110404"/>
{(assignedAuthor classCode="ASSIGNED”>
<id root="2.16.156.10011. 1. 7" extension="234234234"/>
N 7] S
<assignedPerson>
<name>ZEPE 4 </name>
{/assignedPerson>
<{representedOrganization>
<id root="2.16.156.10011. 1.5” extension="01"/>
<name>xx[Z&RE</name>
<addr>xx[X xx K#fxx5</addr>
{/representedOrganization>
{/assignedAuthor>
</author>

A——CREENMAGE R 1]
<custodian typeCode="CST”>
<assignedCustodian classCode="ASSIGNED”>
<{representedCustodianOrganization classCode="0RG” determinerCode="INSTANCE”>
<id root="2.16.156. 10011. 1. 6” extension="EHREIEHII%w 5" />
<name> TLAE &y i B RS 22 B 3 00 </name >
{telecom value="0209837373"/>
<addr>xx#7iE</addr>
{/representedCustodianOrganization>
{/assignedCustodian>
{/custodian>

<{relatedDocument typeCode="RPLC”>
<{parentDocument classCode="DOCCLIN” moodCode="EVN">
<id root="2.16.156.10011. 1. 1.1.2” extension="D2011000000"/>
(setld/>
{versionNumber value="1"/>
{/parentDocument>

{/relatedDocument>

<{component>

<{structuredBody>

== E BRI >

<{component>
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{section>
{code code="11450-4" codeSystem="2. 16.840. 1. 113883.6.1”
codeSystemName="LOINC” displayName="PROBLEM LIST”/>
{text/>
{entry>
{observation classCode="0BS” moodCode="EVN">
{code code=" DE04.01.121.00” codeSystem="2.16. 156. 10011.2.2.1”
codeSystemName=" P4z B¥E 5 H 3~ displayName="{@ BRI TEGTE IR />
<value xsi:type="ST”>VEYHFH A</ value>
{/observation>
{/entry>
{entry>
<observation classCode="0BS” moodCode="EVN">
<{code code="DE04. 01.122.00” codeSystem="2. 16. 156. 10011.2.2.1”
codeSystemName=" TA(5 B4 C H ™ displayName="OHAR G ELNGIR" />
<value xsi:type="ST”>VE4HHIA</value>
{/observation>
<{/entry>
{/section>

{/component>

A= AR LR —>
<{component>
{section>
<{code code="8716-3" codeSystem="2.16.840. 1. 113883.6.1”
codeSystemName="LOINC” displayName="VITAL SIGNS”/>
{text/>
{entry>
<{organizer classCode="BATTERY” moodCode="EVN”>
{statusCode/>
<{component>
{observation classCode="0BS” moodCode="EVN">
{code code="DE04. 10. 174. 00"
codeSystem="2. 16. 156. 10011. 2. 2. 1”7 codeSystemName=" T4 (5 B¥ 5 . H %" displayName="W4iE"/>
<value xsi:type="PQ” value="120" unit="mmHg”></value>
{/observation>
<{/component>
{component>
<observation classCode="0BS” moodCode="EVN">
{code code="DE04. 10. 176. 00"
codeSystem="2. 16. 156. 10011. 2. 2. 1” codeSystemName="TA4:{5 BAHE 5t H R displayName="%75K K" />
<value xsi:type="PQ” value="60" unit="mmHg”/>

{/observation>
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</component>
{/organizer>
{/entry>
{entry>
<observation classCode="0BS” moodCode="EVN">
{code code=" DE04. 10. 186.00” codeSystem="2. 16. 156. 10011.2.2.1”
codeSystemName=" P4z B¥4E 6 H 3%~ displayName="4&{&" />
<(value xsi:type="PQ” value="36" unit="C”"/>
{/observation>
{/entry>
{/section>
<{/component>

A== FURREST—>
<{component>
{section>
<{code code="10193-1" displayName=" Breasts”
codeSystem="2. 16. 840. 1. 113883. 6. 1” codeSystemName="LOINC” />
{text/>
{entry>
<observation classCode="0BS” moodCode="EVN">
{code code="DE04. 10. 159. 00" codeSystem="2. 16. 156. 10011.2.2.1”
codeSystemName=" FTA (5 B XI5t HR” displayName="HIEM & 45 BALHE " ><(qualifier><name
displayName="Z " ></name></qualifier></code>
<value xsi:type="CD” code="1"
codeSystem="2. 16. 156. 10011. 2. 3. 1. 66" codeSystemName="F R 45 B AL E " displayName="F L7 H
“></value>
{/observation>
{/entry>
{entry>
<observation classCode="0BS” moodCode="EVN">
<{code code="DE04. 10. 159. 00” codeSystem="2. 16. 156. 10011.2. 2. 1”7
codeSystemName=" T4 (5 BE 5 7t H R displayName="FIRM & 45 BALHE " ><(qualifier><name
displayName="41l"></name></qualifier></code>
<value xsi:type="CD” code="1"
codeSystem="2. 16. 156. 10011. 2. 3. 1. 66" codeSystemName="F IR 45 AL E " displayName=" A L7 H
"/
{/observation>
{/entry>
{/section>

{/component>

N EFHISTEN —>
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{component>
{section>
<{code code="11400-9” codeSystem="2. 16.840. 1. 113883.6.1”
displayName="GENITALIA” codeSystemName="LOINC”/>
{text/>
{entry>
{observation classCode="0BS” moodCode="EVN">
{code code="DE04. 10. 244.00” codeSystem="2. 16. 156. 10011.2.2.1”
codeSystemName=" A5 BHHE L H X" displayName=" %5 T WirdE"/>
<{value xsi:type="BL” value="true”/>
{entryRelationship typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="DE04. 10. 025. 00”
codeSystem="2. 16. 156. 10011. 2. 2. 1” codeSystemName=" F4E{Z B35 c H3” displayName="3&ZRIL" />
<value xsi:type="ST”>E&FIRML</value>
{/observation>
{/entryRelationship>
{/observation>
<{/entry>
{entry>
<observation classCode="0BS” moodCode="EVN">
{code code="DE04. 10.072.00” codeSystem="2. 16. 156. 10011.2.2.1”
codeSystemName=" P45 B HE 76 H 7" displayName="E kR HIrE"/>
<{value xsi:type="BL” value="true”/>
<entryRelationship typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
{code code="DE04. 10. 073. 00"
codeSystem="2. 16. 156. 10011. 2. 2. 1”7
codeSystemName="FA{5 BHIEICH R displayName="E K7 iR />
<value xsi:type="ST> B REHIR/ value>
{/observation>
{/entryRelationship>
{/observation>
{/entry>

{entry>
{observation classCode="0BS” moodCode="EVN">
<code code="DE05. 01.039. 00” codeSystem="2. 16. 156. 10011.2.2. 1”7
codeSystemName=""TAE (5 B4 6 H " displayName="17 H & AR HARAS” />
<value xsi:type="CD” code="1"
codeSystem="2. 16. 156. 10011. 2. 3. 1. 110" codeSystemName="15 [T @ A IRHMACHL K" displayName="F W5
w7/

{/observation>
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{/entry>
{/section>
<{/component>

== {RFREPHAL &Y -
{component>
{section>
<{code code="51848-0" displayName="Assessment note”
codeSystem="2. 16. 840. 1. 113883. 6. 1” codeSystemName="LOINC” />
{text/>
{entry>
{observation classCode="0BS” moodCode="EVN">
<{code code="DE05. 10. 125.00” codeSystem="2. 16. 156. 10011.2. 2. 1”
codeSystemName=""T (5 B4 6 H” displayName=" 22 = VAL 2 W AR &7 />
<{value xsi:type="BL” value="true”/>
<{entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
{code code=" DE05. 10. 126. 00”
codeSystem="2. 16. 156. 10011. 2. 2. 1”7 codeSystemName=" P45 B¥IE 6 HR” displayName="Z2;= {1
VAL S S5 R />
<value xsi:type="ST”>Zr=l{d B iP5 7o 4 AR </value>
{/observation>
{/entryRelationship>
{/observation>
{/entry>
{/section>

{/component>

A— EREIREEY —
<{component>
{section>
<{code code="69730-0" codeSystem="2. 16. 840. 1. 113883.6. 1"
displayName="Instructions” codeSystemName="LOINC”/>
{text/>
{entry>
<observation classCode="0BS” moodCode="DEF” >
<code code="DE06. 00. 051. 00" codeSystem="2. 16. 156. 10011.2.2. 1”7
codeSystemName=""T (5 B4 6 H " displayName="f# 5 F"></code>
<value code="1" codeSystem="2.16. 156. 10011. 2. 3. 1. 195”
codeSystemName="Z;~ {1 B8 SR HMCIGER” xsi:type="CD"/>
{/observation>
{/entry>
{/section>
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<{/component>

A— HgWEY—>
{component>
{section>
<{code code="18776-1" codeSystem="2. 16.840. 1. 113883.6.1”
displayName="referal” codeSystemName="LOINC”/>
{text/>
{entry>
{observation classCode="0BS” moodCode="EVN">
{code code="DE06. 00. 174.00” codeSystem="2. 16. 156. 10011.2.2.1”
codeSystemName="_LA4{5 BH L H R displayName="#12k3&E" />
<value xsi:type="BL” value="true”></value>
<{entryRelationship typeCode="CAUS” negationInd="false”>
<act classCode="INFRM” moodCode="APT” negationInd="false”>
<code code="DE06. 00. 177. 00"
codeSystem="2. 16. 156. 10011. 2. 2. 1” codeSystemName=" FAE{Z B 5 H3” displayName="H 2R [A" />
<text> R PR A AE, FiftEIIE </ text>
{performer>
{time/>
<assignedEntity>
<id/>
{representedOrganization>
<name> P £}</name>
<asOrganizationPartOf>
<wholeOrganization>
<name>xx AR 03</name>
<{/wholeOrganization>
{/asOrganizationPartOf>
{/representedOrganization>
{/assignedEntity>
{/performer>
{/act>
{/entryRelationship>
{/observation>
{/entry>
{/section>

{/component>

A= TIRBEVTZHFES >
{component>
{section>
<{code displayName=""FXME1/j ZHE"/>
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{text/>
{entry>
{observation classCode="0BS” moodCode="DEF”>
{code code="DE06. 00. 109. 00" codeSystem="2. 16. 156. 10011.2.2.1”
codeSystemName="_A4:{5 BHHE L H 3" displayName=""F kKI5 HIH” />
<(value xsi:type="TS” value="20110606"/>
{/observation>
{/entry>
{/section>
<{/component>
{/structuredBody>
<{/component>
{/ClinicalDocument>
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